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In a hydrodynamic journal bearing, there

is

(1) a very thin film of lubricant
between the journal and the bearing

such that there is contact between
the journal and the bearing.

(2)  athick film of lubricant between the
journal and the bearing.

(3) no lubricant between the journal
and the bearing.

(4) a forced lubricant between the
journal and the bearing.

Whirling speed of the shaft is the speed at
which

(1) the shaft tends to vibrate in
longitudinal direction

(2) torsional vibrations occur

(3) the shaft tends to vibrate vigorously
in transverse direction

(4) combination of transverse and
longitudinal vibration occurs

Tearing efficiency of a riveted joint is the

ratio of

(1) Tearing strength of solid plate/
tearing strength of punched plate

(2) Tearing strength of punched plate/
tearing strength of the solid plate

(3) Tearing strength of a rivet/tearing
strength of solid plate

(4) None of the above

(3-A)

Module of a gear is

(1) D/T
(2) T/D
(3) 2D/T
(4) 2T/D

(where D = Pitch diameter of gear,

T = Number of teeth on gear.)

In lathe, the main spindle shaft holding
the chuck is subjected to

(1) compression, torsion and thrust load
(2) torsion, impact and thrust load
(3) bending, torsion and thrust load

(4) bending, tensile and torsion load

Effect which occurs when a transverse
magnetic field is applied to a current
carrying conductor plate is

(1) Piezoelectric effect

(2) Dynamic Coulomb effect

(3) Hall effect

(4) None of the above

A test during which the output readings
are compared with the corresponding
standard values of measurand measured
by a device is

(1) Resolution

(2) Modulation

(3) Calibration

(4) Compensation
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A vernier caliper has 25 divisions on its
vernier scale and is able to measure a
least value of 0-5 mm on its main scale.

Its least count is equal to

(1) 0125 mm
(2) 002 mm
(3) 025 mm
(4) 0-002 mm

A device used to smoothen the cyclic
fluctuations of speed while delivering
constant output power from the engine

irrespective of the varying load demand is

Governor

(1)
(2)

Differential gear box

Cam

(3)

None of the above

(4)

Mass ‘m’ is rotating with a speed of
‘@’ rad/sec at radius ‘r’ from the axis of the
shaft. It is balanced by mass ‘B’ at radius
‘b’. The shaft speed is doubled for balance.

Then the value of balancing mass ‘B’ is

(1) doubled

(2) halved

(3) quadrupled
(4) unaffected

G-A)

11.

12.

13.

For machines mounted on springs and
dampers, damping is beneficial only when

the frequency ratio is

1 2 =1
Op

(2) L <1
Op

(3) L 2
Op

4 2 >.2
(Dn

® = uniform angular velocity

o, = natural frequency

For a shaft speed more than the whirling
speed, the phase difference between the

displacement and centrifugal force is
(1 o°

(2) 45°

3) 90°

(4) 180°

In which of the following devices is an
emf generated when an external force is

applied on certain crystalline material ?

(1)

Condenser microphone
(2) Resistance load cell
(3)

Electrodynamic generator

None of the above

(4)
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Which of the following static performance

characteristics of measuring instruments

is caused by backlash, elastic
deformation, magnetic and friction
effects ?

(1) Static drift

(2) Static sensitivity

(3) Resolution

(4) Hysteresis

The maximum clearance in the clearance
fit is

(1) the difference between minimum
hole and maximum shaft

(2) the difference between minimum
hole and minimum shaft

(3) the difference between maximum
hole and minimum shaft

(4) the difference between maximum
hole and maximum shaft

Cathode ray oscilloscope is a

voltage measuring device, capable of

indicating voltage signals from the

intermediate elements as a function of

time.
(1)
(2)
3)
(4)

Low input capacitance
High input impedance
Low input inductance

High input inductance

(7-A)

17.

18.

19.

A spring is subjected to 42 N load causing
a deflection of 40 mm. The mean diameter
of the spring coil is 24 cm while its wire
diameter is 8 mm. Its spring index is
equal to

(1) 03

(2) 333

(3) 033

(4 3:00

Assuming the coefficient of friction to be
the

self-lubricated journal bearing is given by

constant, bearing pressure of

(D
(2)
(3)

(4)

where, F = load; L = length of bearing;

D = diameter of bearing and A = EDZ .

“Layering” is the facility/feature of which
of the following areas of application of
CAD?

(D
(2)
3
4)

Geometric modelling
Engineering analysis
Design review and evaluation

Automated drafting
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In cone clutch, the frictional force is

calculated using the formula

v siljlae
@ silne
S siljlne
@ u siljf1 0
where,

u = coefficient of friction,

F, = axial force,

F,, = normal force on contact surfaces,

0 = cone angle.

Gravity die casting is
(1) A metal casting process where
metal is forced under pressure

against gravity.

(2)

A permanent mould casting where
metal enters the mould under

gravity.

(3

A semi-permanent mould casting
where metal gravity cores are used.

(4)

Used for producing complicated
shapes with low cast die.

(9-A)

22.

23.

In submerged arc welding

Molten metal and arc zone are

(D)

submerged in water.

(2) The molten weld and arc zone are

submerged under a blanket of
granular fusible flux.

Molten metal and arc zone are

(3)
submerged in a blanket of granular
flux of helium.

(4)

Arc zone is submerged under fusible
flux of graphite.

Which is true for electric arc furnace for

melting of metals ?
A. Graphite electrodes are used.

B. To produce a tonne of steel, around
400 kWh of electric energy is used.

C. Charge is directly exposed to an
in the
terminals passes through charged

electric arc and current

material.

D. Steel can be made from a 100% scrap
metal feed stock.

Select the code for the correct answer
from the options given below :

(D
(2)
(3)
(4)

A and B only
B and C only
A, B and D only

A,B,CandD
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In oblique metal cutting, the inclination
angle is

(1) the angle between the cutting edge
of the tool and the normal to the

direction of velocity of work.

(2) the angle between chip flow
direction and the normal to the
cutting edge of the tool.

(3) the angle between cutting edge of

the tool and normal to the cutting

edge.

(4) the angle between chip flow
direction and direction of velocity of
work.

18-4-1 HSS steel contains

(1) 18% tin, 4% nickel, 1% chromium

(2) 18% tungsten, 4%
chromium

nickel, 2%

(3) 18% tungsten, 4% chromium, 1%

vanadium

4) 1%

18% nickel, 4% chromium,
manganese

Lathe operations can be performed by
A. holding workpiece between centres
B. holding workpiece by a chuck

C. holding workpiece by a face plate
D. holding workpiece by an angle plate

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
3)
(4)

A is correct
A and B are correct
A, B and C are correct

All are correct

27.

28.

Different that be

performed on drilling machines are

operations can

A. Drilling and Reaming
B. Boring and Counter sinking
C. Lapping and Grinding
D. Spot facing and Trepanning

Which of the above statements is/are

correct ?

Select the code for the correct answer
from the options given below :

A is correct

(1)

A and B are correct

(2)
3)

A, B and C are correct

All are correct

(4)

Universal milling machine

(1) has a circular swivelling base with
degree graduations and table can be
swivelled to any angle up to 50° on

one side of position.

has four table movements.

(2)
(3)

produces work with faster rate but

lesser accuracy.

(4) is the simplest of all types and used
for machining slot and keyways in

heavy workpieces.

(11-A)
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In closed die forging by slab analysis, the

forging load is calculated

(1)

(2)

(3

(4)

using information available in

previous similar forgings.

by empirical relations of stress and

strain that are used for slab.

the forging is divided into simple

geometric shapes which are

separately treated.

None of the above

In deep drawing

(1)

(2)

(3

4)

workpiece is drawn through the die
opening to take the shape of the die
hole.

the sheet is drawn into die hole

taking the shape of the cavity.

sheet metal is punched to give bend

shape.

a metal rod is drawn lengthwise by

tensile load.

31.

32.

Blending in powder metallurgy refers to

(D)

(2)

3)

(4)

the process of combining powders of

different chemical elements.

the process in which powders of
same composition and same particle

sizes are mixed.

the process of combining powders of
same composition but different

particle sizes.

All the above

WIP ratio refers to

(D)

(2)

3

4)

(13-A)

The ratio of total manufacturing
lead time to the sum of the
individual operation times for the

part.

Work-in-process inventory or
amount of product currently located

in the factory.

The ratio of total work-in-process to

the number of machines 1in

processing.

The ratio of work-in-process to the

actual processing time.
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34.

35.
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0-8
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CNC part program consists of

A.

Set of instructions written in
different blocks in the order of

execution of different operations.

String of blocks where each block
contains set of letters and numerical

values.

Generally a word addressed system
in which alpha character is known
as address preceding  each

numerical data.

Set of encoded information giving
co-ordinate values and other details
to indicate tool motion in relation to

a workpiece.

Which of the above statements is/are

correct ?

Select the code for the correct answer

from the options given below :

(1)

(2)

3)

(4)

B and D only

A and C only

B only

A,B,Cand D

34.

35.

36.

In third angle of projection, if the
Auxiliary V.P. is placed to the right of the

object, the view obtained is called
(1) Left Side View

(2) Right Side View

(3) Bottom View

(4) Side View

In third angle projection, the object is

assumed to be placed in the
(1) Third quadrant

(2) Second quadrant

(3) First quadrant

(4) Fourth quadrant

The dryness fraction of sample steam in
separating calorimeter is 09 and in
throttling calorimeter is 0-:8. The dryness

fraction of the sample is

(1 09
(2) 08
(3) 0-66
(4) 072
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3

4) (T1-THo

WP TYTOE T0LOETOT NROF IO
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3EI
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—
N—’
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9)
@ 3EI

ML3

(3 SEL

ML
3EI

(HP) 0% RBOT IPR 30230 ©ow
AROBOT (VP) 30T3 Q0O 2,030 200 ‘A’
QT WRIHEB

(1) BezodoDd

(2)  ATBICD

(3)  Rw3JoDd

(4)  TIOFOD

(4)

40.

41.

42,

Ao¢  Jedosn  THO®  ARBOE  (HP)
DR002TzoN, ARBWE  (VP)
womm%ﬁ, Bead3odd A emcéddg{ elniel ]
BEOIWTOT)

BRI Jeee3
B0eOT Zeees

QoW

(D
(2)

(3) WO T Jpces

4) 2 még Jece3

FoRper 3BT DTOEONTE,
FORFIVFLAD  FZFY @&baﬁéﬁ 2 kW
QUFES), 300 K 02y 200 K 2R3
JRNTE, e &ROTT. 03
W T, W 8= DT

2.8, .

(D)
(2)
3
(4)

1, 1kW
1, 2kW
2, 1 kW
2, 2 kW

NO% MWBWRT, WY AWOT) TEaeCITN
RFYT  BOIRWS DRI B
AoTPETE,

(D D deeRonfdpodrt  WGdT

TOTONTED

W) WTWOFONTHRAN B030dew
BN

TP SpeBon ©RODE WREIT [T
30B08¢© TOTONMED

33 QORI B

(2)

3)

(4)
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If T, is the tension on the tight side, Ty

the tension on the slack side, v is the
linear velocity and o the angular velocity
for a Dbelt drive, then the power
transmitted is given by

(Ty — Ty)
\%
(Ty — Ty)

(O]

(Tl - T2) A\

(1)

(2)

(3)

4) (T1 - Tz) ®

For the cantilever shown in the figure,

the maximum deflection will be

[V w

ALLRRRRNNRNN

ML
3EI

~~
—
N

MIL2

9)
@ 3EI

ML3

(3) SEL

ML?

4) =
@ 3EI

A point ‘A’ is below the horizontal plane
(HP) and behind the vertical plane (VP).
The point is in the

(1)
(2)
(3)
(4)

First quadrant
Second quadrant
Third quadrant

Fourth quadrant

40. A

41.

42,

straight line is parallel to the

horizontal plane (HP) and inclined to the
vertical plane (VP). The true length of the

line is obtained in
(D
(2)
3)
(4)

Front view
Top view
Right side view

Left side view

A refrigerator working on a reversed
Carnot cycle removes 2 kW per minute of
heat from a system working between the
temperatures of 300 K and 200 K. The
COP and power consumed by the cycle
will be

(D
(2)
3
(4)

1, 1kW
1, 2kW
2, 1 kW
2, 2 kW

The Maximum Normal Stress Theory
gives reasonably good predictions of the

failure stress for
(1)
(2)

Brittle materials with static loading

Ductile materials with stress

reversals

Both brittle and ductile materials
under shock loading

3)

None of the above

(4)
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46.

47.
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2P
D (D —+D? +d?)

(1) BHN=

oP
nD(D—-+D2%-4d2)

(2) BHN-=

(3) BHN=

nD[D-+/D2 -d?]

2P
DD ++D?% —d?]

(4) BHN=

P = 2.3NT 3005,
D = Oo&3 mﬁ,

-
megn).

d = 23 (o)
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The air standard efficiency of an
I.C. engine is given by the equation (r is
the compression ratio and y the ratio of
specific heats)

1
o [

@2 1+r1
3 1-r"1
4) 1-r'"2

The parts of the spark ignition system are
A. Carburettor

B. Spark plug

C. Fuel injector

Which of the above are correct ?

Select the code for the correct answer
from the options given below :

(1) AandBonly
(2) B and C only
(3) A and C only
(4) A ,BandC

Which of the following statements is/are
correct about fire tube boilers ?

A. The hot products of combustion pass
through the tubes which are
surrounded by water.

B. Fire tube boilers have low initial cost.

C. Fire tube boilers are more likely to
explosion.

Select the code for the correct answer
from the options given below :

(1) Aonly
(2) Bonly
(8) Conly
(4) Al of the above

46. During

47.

Brinell Hardness Test on a
specimen, the Brinell Hardness number

can be calculated by using the formula

(1) BHN = 2P
D (D —-+D? +d?)
(2) BHN = 2P
nD(D—-+D2%-4d2)
(3) BHN = P
nD[D-+D2 -d?]
(4) BHN = 2P

xDID + D% —d?]

where, P = applied load,
D = ball diameter,

d = diameter of the impression.

The ratio of fibre length to its diameter in

a composite material is called
(1) Poisson’s Ratio
(2) Euler’s Ratio
(3) Aspect Ratio

Slenderness Ratio

(4)

https://www.freshersnow.con(ﬂ‘Br"e@ic)ﬁus-year-question-papers/
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-
N..@%

(1) E. = Vme + EmEf
¢ Eme
2 E, = CmVf

3

4)

¢ Vv,V +E E¢

E = El’n Ef
¢ VmEf + VfEm

VmEf + VfEm
Em Ef

E, =

E., E,, Ef N0 e303=0m0N 800303,
WPOTTE, WBY Y TWIOD  AGTFT
BREYOTNWD, Vy, = 20O {Rmo3sE s,

Vi = 0% 3m0o33 o3,

Roodeeelen  O3R08T OBy ROGRTH
BSMONE P03 FTRO emd@d ﬁzﬁs@é@omﬂ

333 @55& éoeﬁoﬁmrb@da
1) e

(2) ﬁ%@eﬁ

(3) G NTT o

(4)

28TOTT NP

@ @

50.

51.

NS W[/, ODIT  FFT,  wWord
RB|HD BoBSNY, PLBINY WFANY
Rosd, By APE,; FoBNYR) Qe

)
Nfe)_é)

1 P+F=C+2
(2)
(3)
4 P-F=C-2

P = &z Mo, F = W0, @oune

P-F=C+2
P+F=C-2

Bogd, C = F[WI0H  BoBOFCDYTI
PN B0,
QTR DITBOD BT QOB
QTR
n dm_ DA(EJ

dt dx
(2) dm 2(@)

dt Al\dx
(3) dm __ é(@)

dt D\dx

2

(4) dm _ D_(Ej

dt A (dx

dm e,
dt
D = Q3T NOT03,

A = TTED TTOBO QYL

de
o FPOTTD DHOTELD.
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The Young’s modulus of fibre reinforced
composite in isostress can be calculated
by

(1) E = Vme +EmEf
[
Eme
(2) E.= Eme

¢ Vme + EmEf

(3) Ec - Em Ef
VmEf + VfEm
(4) Ec _ VmEf + VfEm
Em Ef

where, E,, E,, E¢ are elastic moduli of

composite, matrix phase and fibre phase

respectively, V,, = volume fraction of

matrix, V¢ = volume fraction of fibre.

If the

composite

mechanical properties of a

improves as a result of
increasing the average fibre length, then

it is called

(1) Long fibre

(2)  Short fibre

(3) Medium length fibre
(4) Elastic fibre

50. According to Gibb’s phase rule,

51.

the
number of component phases and number
of degrees of freedom in a system at

equilibrium is given by

1) P+F=C+2
(2 P-F=C+2
3 P+F=C-2
4 P-F=C-2

where, P = number of phases, F = number
of degrees of freedom, C = number of

components in a system in equilibrium.

Fick’s first law of diffusion is given by

1 9 __pa (@j
at dx

(2) d_m:_E(EJ
dt A \dx
(3) d_m:_é[@j
dt D (dx
2
(4) d_mz_D_(Ej
dt A \dx

where, (L—T = rate of diffusion,

D = diffusion coefficient,

A = area of plane of diffusion,

g_c = concentration gradient.
X
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52.

53.

54.

267

6 cm GJDC% 1 cm ©1©, 0-3 cm Cﬁé%jd Z&’e"owﬁ
FRET [RTON 6 N W Jodeen mnRTN
BRTOC B¢ 6B

(D
(2)
3)
4)

1-8 x 10712 MN/m?
20 MN/m?

2 MN/m?

0-2 MN/m?

SUFNESEW [0 30T ©FeD [T

1) g

2) B

3) BB/

4) 33

B3 BINT CINT FoTPFTY, LVF 18 TAT
BRT, ORI LROTD BT ?

(1) 25°C BTDY, 50 cc JeTZY 25°C

TR, 50 cc AeoIeohnt W3Tn

(2) 15°C 3ITY, 500 cc TR 15°C

W) 100 cc DedZRoQN W3aTn

(3) 100°C ITY, 5 kg STF BLICDY
100°C =BBY, 50 kg 3oF [0
Todnrm  Icdeoddrt  100°C o

W3S 2IB/TN

(4) 20°C TTBY, 10 cc JeTZY 20°C
TG, 10 cc FVROTRY, BrodN

330N

55.  ©OTOXFODICCD 35T QTOW QW 0T

(1) e33ead % >0

(2) e3Feod

(3) wecd

(4) B3 CRRYTP @,

56.
O3RR)TOOT BEFLWTITO ?

(1)
Feo NS 2T

2) ez O @edy

BoARaET) (T)3)

(3) Sez® o Boeds

BodRaET) (T)3)

(4) fpe@éoc% O3N)TOTTR LOTD

57.

@ @

(1) Boedeos, 220 37, SNTN

(2)
3o %m%ﬁ

(3)
Q@Dﬁ

4) 35 IPRTP @

(22 -A)

20030 eds @eééojoabq 33 3R

Sez® ?5&%55 0eOV0T BRLIT

20
5]

20M°
o)

2T FIRSCIE) To03eY) SeweTTT L9T3T

WTTNITIE, Feo, BoF@S Feor 308

R0 FeoBR) MOTE, Eeos, z%éoa’ Roee3



52.

53.

54.

267

If a force of 6 N is applied to a flat tensile | 55.
specimen of length 6 cm, width 1 cm and
thickness 0-3 cm, the stress on the
specimen is
(1) 18 x 10712 MN/m?
(2) 20 MN/m?
(3) 2 MN/m?
(4)  0-2 MN/m?
An intensive property of a
thermodynamic system is
(1)  Volume
56.

(2) Temperature
(3) Mass
(4) Energy
For which of the following situations will
the zeroth law of thermodynamics not be
valid ?
(1) 50 cc of water at 25°C is mixed with

50 cc of water at 25°C

57.

(2) 500 cc of milk at 15°C is mixed with

100 cc of water at 15°C
(3) 5 kg of wet steam at 100°C is mixed

with 50 kg of dry and saturated

steam at 100°C
(4) 10 cc of water at 20°C is mixed with

10 cc of sulphuric acid at 20°C

(23-A)

The condition for irreversibility of a cycle

is

. dQ
1 1 —>0
(1) cyclic |7 >
(2) cyclic aQ <0
J T
. [ dQ
3 1 —=0
(3) cyclic | T

(4) None of these

The size of a lathe can be specified by

(1)

The height of the centres measured
over the lathe bed

(2)

Swing diameter over the bed

3

Swing diameter over the carriage

(4) Any one of the above

A body floats in stable equilibrium

(D

When its metacentric height is zero

(2)

When its c.g. is below its centre of

buoyancy
(3)

When its metacentre is above c.g.

None of the above

(4)
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(24 -A)

3 BTRY) FYTLO AN WEE SON
23RN0 BRETER) QPRI

(1) 20°

(2) 30°

(3) 60°

(4) 90°

GRICKIO) QO ROSRT

Q0T TRRRIT Y (BRFOT )

(1) 146:1

(2) 185:1

(3) 204:1

4) 226:1

2000 AOFR, WIRBY, Q0T FoeT
T00R) 800 kd/kg, S303RTONICH TR
2000 kJ/kg 230TT. 00D 5307% @@95@
05 2TY, BAODYTOT 2830, TR
DT ?

(1) 2800 kd/kg

(2) 2400 kJ/kg
(3) 1800 kJ/kg

(4) 1400 kJ/kg
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The products of combustion are expanded
through the gas turbine and exhausted to

the atmosphere in

(1) an open cycle

(2) aclosed cycle

(3) both open and closed cycles
(4) None of the above

The function of a surge tank is

(1) To supply water at constant

pressure

(2)

To relieve water hammer pressures
in the penstock pipes

(3

To produce surges in the pipeline

(4) All of the above

One boiler horse power is defined as

(1) The ratio of heat actually used to
produce steam to the heat liberated

in the furnace

(2)

The amount of steam produced in kg
per kg of fuel burnt

(3) The evaporation of 15653 kg of

water per hour from and at 100°C

None of the above

(4)

(25-A)

61.

62.

63.

Belt conveyor can be used to transport

coal at an inclination up to

(1) 20°

(2) 30°

(3) 60°

(4)  90°

The correct mixture strength (by weight)

for a petrol engine is about

(1) 146:1

(2) 185:1
(3) 204:1

(4) 226:1

At a certain pressure, the sensible heat of

800 kdJ/kg,
evaporation is 2000 kd/kg. If the dryness

water is enthalpy of

fraction of the steam is 0-5, then the

enthalpy of wet steam is

(1) 2800 kd/kg

(2) 2400 kJ/kg
(3) 1800 kd/kg

(4) 1400 kd/kg
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Which among these is a water tube

boiler ?
(1) Babcock and Wilcox Boiler
(2)  Cornish Boiler
Cochran Boiler

(3)

Locomotive Boiler

(4)

In S.I. units, one tonne of refrigeration is

equivalent to

(1) 5kW

(2) 1-5kW
3) 35kW
(4) 25kW

The ratio of moment of inertia of a

circular body about x-axis to that about

y-axis is
1) 10
@) %
(3) g
(@) %

(27 -A)

67. Four forces P, 2P, 3P and 4P act along the

68.

sides of the square taken in order as
shown in the following diagram. The

resultant force is

4P
P
3P

2P
(1) zero
2 5P
3) 2P
(4) 24J2P

A mass of 5 kg is attached to the middle
of a rope, which is being pulled from both
ends in the opposite directions taking
g = 10 m/s2. The minimum pull required

to completely straighten the rope will be
(1) 15N
(2) 25N
(3) 35N

(4) o
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12 kN-m
14 kN-m
5 kN-m



69. Two iron blocks of different weights are

70.
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placed on a frictionless inclined plane and

are allowed to slide. They will

(1)

(2)

(3)

(4)

have different accelerations but

same forces acting on them.

have same acceleration but different

forces acting on them.

have equal potential energy at any

point on the plane.

None of the above

Which of the following statements is/are

correct about climb milling ?

(1)

(2)

3

(4)

The chip thickness is maximum at

the beginning of the cut.

Surface finish 1is better than

conventional milling.

Coolant can be applied easily.

All the above are correct

(29-A)

71.

72.

73.

Two shafts ‘A’ and ‘B’ are made of the
same material. The diameter of shaft ‘B’
is twice that of shaft ‘A’. The ratio of

power which can be transmitted by
shaft ‘A’ to shaft ‘B’ is

(D)

| =

(2)

| =

3

&)=

(4)

The centroid of a semicircle measured
from the centre of the semicircle is given

by

4r

(D) F™

3r

(2) ym

47

3 3

3n
4) —
4r
A solid shaft can resist a bending moment
of 4 kN-m and a twisting moment of
3 kN-m together. Then the maximum
torque that can be transmitted is

(1) 7kN-m
(2) 12kN-m
(3) 14 kN-m
(4) 5kN-m
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CoorT | BREOT E’ nw, W, BRBOOT®
K nR, Tone ORRE @IN@OT ‘C ne
Q30w m’owo;ﬁﬁ&z{ &l BB

3C+K
9K

1 E=

9KC
3K +C

(2 E=

9K
3C+K

3 E=

IK +C
3K

4 E=

WO 20 mm mag:)’d PSS OE°
4000 N-mm ROF WoRor®  Heoon
LTI,  ©wuT  Bedow®
VTHFOIR  (WERTL 3P) 1000 mm?

faz::)od, ©TITA, VLMD 71607’% Wo&one

=S50

37 o= ?

& e

80 N/mm?
100 N/mm?2

40 N/mm?
20 N/mm?

(1)
(2)
3)
(4)
33 31t L30T CBRTW LTINGE), 2,080
BROT WOTONTE), ARED® 2P =03
Qg (&zé@ﬁ/mﬁ%) @5& OO0

SO0,
(1) RTSeT I

(2) BRT0EF HDHOOIR VO
(3) BIIRT OGO
(4) BOOTOTIEEF 2T DI

(30-A)

717.

78.

20T F0LIDERTT VST :0F BOO0Y,
WOTD VOO 3@555& GopLinioliCIne)
oo Fpoer TFodw B3 PR
QTITT.

(1) 2030 AJPDO W BROIR,
FeonBY, Noxy Wokorr  Fed0LT

Relobrie

(2) 20T ©ow BRET &owTBRodR ©0T
BR0NY BT, WoRor®  HeedoeF
Y 28 BOODY, RoF owore

Sz BT

(3) 20T ©owBRES LR Rodn WT
B00DY, Noxy, WoRor®  FRFO0LT
T AZ DRNY, 3pF, Woron®

SRR QTS

(4) 20T SOHBTBROON FTER BDANTS),
WOTE AROTT WoROTY BRIV0L®

QTS
T,0000TTRE), o> B[RS .03 FRING

GRTRTR), SRA0 2080 IRRORTY,

930 OB
(1) oed , &% 40
(2) 40 dg% zﬁaumm% 2303
(3) Reedd & 40

4) ﬁoeez 5 2,083083 40
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The relation between Young’s modulus | 77,
‘E’, bulk modulus ‘K’ and rigidity modulus
‘C’ is given by
1) E-= 3C+K
9K

2 E= _KC

3K+C
3 E=_X

3C+K
4 E-= 9K +C

3K
The maximum bending stress induced in
a solid rod of 20 mm diameter subjected
to a maximum bending moment of
4000 N-mm and having a moment of
inertia of 1000 mm* is
(1) 80 N/mm?
(2) 100 N/mm?
(3) 40 N/mm?
(4) 20 N/mm?
78.

Which one of the following methods is not
used to solve the slope and deflection at a
point in a beam ?
(1) Macaulay’s method
(2) Moment area method
(83) Kennedy’s method
(4) Conjugate beam method

(31-A)

If a cantilever beam is subjected to a
point load at its free end, then its bending

moment diagram will look like

An

maximum bending moment at the

(1) equilateral triangle with

centre

(2) A right-angled triangle with zero
bending moment at free end and
maximum bending moment at fixed

end

3 A

maximum bending moment at free

right-angled triangle with

end and zero bending moment at
fixed end

(4) A rectangle with equal bending

moment at both ends

If a part in a drawing is dimensioned as

SR40, it means

Surface radius 40

(1)
(2) Square with 40 as side

(3) Spherical radius 40

(4)

Surface roughness 40
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83 IINT BRRT SFZREDWT TGS
SNTIRRY, ?

(1) Bodhdous g

(2) TIFTE Bpge
(3) oRReRoeE TpES®
4)  &RWT P

2oTD P TRV TR WHOD Foed
T, [HTONTRA OIRE OGRS
BROT 00T 38,08 RTINS ?

(1) RBN03T Tes303d BROTF 03

(2) TeRoer Teadodd BROT 0T

(3)  Hotnordedy BRUT 0L

(4)  ©TEERe (FOROTITI FETT)

BROTT00E3°

2,080 BRNT HTT SRWNTL LN,
eSS FAET)  WRRILD oD
6@9303353@ 45° 00 WIOPLRNT. &
TBea303080, 2080 FTORGRMOTS ?

(1) Spugs deas

(2)  S0eE3TT Tessd
(8) =ITee3o® Teas
4) Oewo® Tesd

(32-A)

82.

83.

84.

TOTRWDT  JODT WOROT®  SRITEOY,
2,000 FBDOWRBI), 81 IINT ARFTO0T
ARN ATRLIWTIT ?

(1) &% 083 2,00 BoDOD WOT

(2)  TER SO WoTONEd

(3)  QTTER 00O WOTIN Tonwe FeoT,
0O

(4)  3eog =Y &,

V00T, WOBEE, T SO -A’ 3
R[50, ©FOT agds@é (h), 30D cﬁo,—-i&% (d)
QTR #ouozﬁd&q &eTt WBCHWIBIT

(D)
(2)
3

(4)

33 FENT ORT RN 2,030 GV
ORWFOETIE) 9T egedecd0we ?

(1) (2:1{7533) WADISHleven es"oo,;z—omoo%ﬁ%ls
L2TONOETN WTRNLIDTTD

(2) W@  Word W Fpeo® (R0)
WOTONLL 3R BTLIeBd

(3) T Womd R FT© WO TR
2aletl:v)

(4)  PoRdewE TR YTeIesd
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Which one of the following is not an

axonometric projection ?

(1) Diametric projection
(2) Perspective projection
(3) Isometric projection
(4) Trimetric projection

Which method of development is used
when the surfaces of solids are bound by

double curved surfaces ?

(1)

Parallel line development

(2)

Radial line development

(3

Triangulation development

(4)

Approximate development

A line drawn at an angle of 45° in order to
draw the third view of a component, when

two other views are known, is called

(1) Projection line
(2) Miter line

(3) Generator line
(4) Leader line

(33-A)

82.

83.

84.

In computer aided drafting practice, an

arc is defined by

(1)

Radius and one end point

(2)

Two end points

3)

Two end points and centre

Centre and radius

(4)

As per BIS Standards,
lettering-‘A’, the relation between letter
height (h) to line thickness (d) is given by

according to

(1) d:%i
@) d:%%
(3) d=%§
(4) d=%

Which among the following properties is

not desirable in a good lubricant ?

(1) Viscosity should not vary with

temperature

(2) Cloud point and pour points should

be low

(3)  Flash point and fire point should be

low

(4) Volatility should be low
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WRd Redd  BZ WD  QFW)
WTEROWATN A - eosor’ @@?,;ggqu
TR0QT ?

(1) @@@?@J@ (@om@d) 7T

(2) BB Redd

3
(4)

RRTE B WRTE Qe
TYT 0B LA

DR QOVITD DT R 0BT
FOOFFRBOZ00 B3 FFNT DRWODNT 0eS
ROORITNTIZT

(1) Ien

(2) BOBRT (Boewme) wRdTZ

(3) QoxI

(4)  F0eOT QP

QORRSeL TFTHOD WENFE TT VFED
B3 B 03RO ?

(1) w3e

(2) ™

(3) =T

(4) o3

QRTVB FTODNL, TWOTIOD F0NTRoAR
ema’% #da%%ojoeﬁmdomﬁ, 3 DT FOO3ONLD
Aoo BOIS QUF AWRGODY, 9ToTS. Bs
THEPFTD

(1) o0z NE TR BRE, AR

(2)  UFE AT BRTO AR

(3)  oVF NS TAR OB AR

(4) 3O -REF T DO

(34-A)

89.

90.

91.

92.

70 kg BR83 &Y 2w, 500 cm? Fe3T
THEMOTOEZRON Toremn, =oows &oed
SFOAOTI YVOLIRTOR WIBE 0T

0-5 kPa
12-5 kPa

(D)
(2)

3)
4)

13-73 kN/m?
25-46 kN/m?2

TR ZBI BT 2.0 .00 BWEOZ
03
(D
(2)
3
(4)

5 BOXETS 233,
QTOF O 263 233,
38 &0e0F 233,

33 DO

wnerd TG B[I) TOBEROD  DTE
VOTONG B 03N BFOEWACONITS ?
(1) O A3, FoWERT, 2I9,OBRE,

(2) TOFY IO, WAORETWICCID OB

IADTNL VDR

(3) oY IO, WTORETICAD OB
IADINSL

4) ToR) 0303, IDORCTICOD,
LOTITRY,

w%:ﬁc BRCOATT, RRCST I[OTHR m@’@

1) =038

(2) 30T

(3) =D

(4) FTTIT FoLoRIY,
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Which gear offers the self-locking facility,

when the direction of the drive is

reversed ?
(1) Elliptical gear
(2) Bevel gear

Worm and worm wheel

(3)
(4)

Rack and pinion

Air standard efficiency of an I.C. engine

depends on
(1) Speed
(2)
(3)
(4)

Compression ratio
Fuel
All of the above

Which of the following is an extensive
property of a thermodynamic system ?

(1) Pressure

(2)  Volume

(3) Temperature

(4) Density

When two bodies are in thermal

equilibrium with a third body, they are
also in thermal equilibrium with each
other. This statement is called

(D
(2)
3
4)

Zeroth law of thermodynamics
First law of thermodynamics
Second law of thermodynamics

Kelvin-Planck’s law

(35-A)

89.

90.

91.

92.

A 70 kg woman walks on snow with a
total foot imprint area of 500 cm?2. What

pressure does she exert on the snow ?
(1) 0-5kPa

(2) 12-5kPa

(3) 1373 kN/m?

(4) 25'46 kN/m?

The COP of a Carnot refrigeration cycle is
greater than

(D)
(2)
(3)
4)

Vapour compression cycle
Reversed Brayton cycle

Vapour absorption cycle

All of the above

When is Bernoulli’s equation applicable

between any two points in a flow field ?

(1)

The flow is steady, compressible and
irrotational

The unsteady,
incompressible and irrotational

flow is

(2)

(3)

The flow is steady, incompressible
and rotational

(4)

The flow is steady, incompressible
and irrotational

Compared to actual diameter, isometric
diameter of a sphere is

(D
(2)
(3)
4)

greater
smaller
equal

not related
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In which of the following measuring
devices is Bernoulli’s equation used ?

(1)
(2)
(3)
(4)

Venturimeter
Orifice meter
Pitot tube

All of the above

The boundary layer thickness for flow

over a flat plate

(1)

Increases with an increase in the
free stream velocity

Decreases with an increase in the
free stream velocity

(2)

Increases with an increase in the
kinematic viscosity

3)

Decreases with an increase in the
kinematic viscosity

(4)

Capillary rise and fall
(1)

Are noticed only in very smooth
tubes

Are due to surface tension of the
liquid and the tube material

(2)

(83) Depends upon the pressure of the
surroundings
(4) Does not depend upon the tube

material

The function of venturi in the carburettor

is

(1) To decrease the air velocity

(2) To increase the air velocity

(3) To decrease the fuel flow

(4) To increase the manifold vacuum

(37 -A)

97.

98.

99.

By use of lubrication, which efficiency of
an I.C. engine improves ?

(D
(2)
3)
(4)

Volumetric efficiency
Mechanical efficiency
Charging efficiency

Indented thermal efficiency

In an impulse turbine

(1) The steam is expanded in nozzles
only and there is a pressure drop

and heat drop.

(2) The steam is expanded both in fixed

and moving blades continuously.

3)

The steam is expanded in moving
blades only.

(4)

The pressure and temperature of
steam remains constant.

A turbine is said to have an axial
discharge when the steam leaves the
blade tip at

(D
(2)
3
(4)

60°
90°
180°
270°

100. A lathe with four steps on the core pulley

and with back gears will have
(1)
(2)
3)
(4)

Four direct speeds
Four indirect speeds
Four direct and four indirect speeds

Eight indirect speeds
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